Shelves | :
This problem gives you the chance to: I 1

* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already nty of bricks and can get planks of wood for $2.50 each.

Each plank jﬁod measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches. ‘

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows thre es.

1. Pete wants five shelves in his bookcase.

s v
5G/l

a. How many planks of wood does he need?

b. How many bricks does he need?
, v l

c. How high will the shelves be? 0\ ‘nihes aQac X % inthe & \'\n\C(J\r\

d. How much will the bookcase cost? _ ﬁ 2 . f)O / (
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The diagram below shows graphs with the following descriptions: T 1
Description One: The cost of the bookcase against the number of shelves. '
Description Two: The number of bricks against the number of shelves.

Description Three: The height of the bookcase against the number of shelves.

Description Four: The width of the bookcase against the number of shelves.

The equations of the graphs are é
y=48, y=10x, y =6, y=25
100

| i 1

80 Jy
70 f
60 + .
- A
B
>0 3 { A A Ac
oD
40 p—
) 4
30 T
[ ]
T
o L E— -
0 1 2 3 4 5 6 7 8 9 10
Number of shelves
2. Complete this table to match each graph with its description and its equation.
Graph letter Description number Equation
A 2 7 Vs [OXx s
B 27 v=lox s
C 4 d \y= L/ g / L(,
D | 7 LTASX [/
- (&
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Shelves

This problem gives you the chance to: I 2

* solve problems in a spatial context
» identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

I3 inches

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need?

-
b. How many bricks does he need? 30 (
c. How high will the shelves be? : q’/) J( %
d. How much will the bookcase cost? “ﬂ ' RS0 / l
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The diagram below shows graphs with the following descriptions:

Description One: The cost of the bookcase against the number of shelves.

Description Two: The number of bricks against the number of shelves.

Description Three: The height of the bookcase against the number of shelves.

Description Four: The width of the bookcase against the number of shelves.

The equations of the graphs are

y=48, y=10x, y

6x,

y=2.5x

100

90

80

70

1

60

1

50

40

30

20

?

o
1]

2 4 5

6 7

Number of shelves

2. Complete this table to match each graph with its description and its equation.

®A
HB
AC
®D

T2

Graph letter Description number Equation
A R4 =6 x ¥
B 2 & F=10x v
C k y=4¢
D 4 7 Y=dolv
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Shelves

This problem gives you the chance to: I 3
* solve problems in a spatial context ».

* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

I3 inches

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need? \Q X

b. How many bricks does he need? 73(: \/‘
c. How high will the shelves be? A § ,\' . ‘/\
d. How much will the bookcase cost? \ ) \/\
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The diagram below shows graphs with the following descriptions: I 3

Description One: The cost of the bookcase against the number of shelves.

o4,/ Ras pAbef qf o g }:.! FONW U\ oy §he

Description Three: The height of the bookcase against the number of shelves.
edcpiptieh Four:~The Width 6f the-\beOkeaseapat ber/pf,

The equations of the graphs are

y= 489 w y= 6x, <7 .5x
100 ﬁ

90 f
80 ﬁf

m -

60 -— ‘

®A

B
5041 4 * A 11 AC

oD
40

30 *— —-

20 —— ﬁ
JERRA
0 — —

3 4 5 6
Number of shelves

~
[+ ]
o

10

2. Comp:ete this table to match each graph with its description and its equation.

| Graph letter Description number Equation
: =
A N\ W =\0% o
- J -

B
C 1 e 7:4' -
¢ L. v ) | B (3)
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Shelves

This problem gives you the chance to:
* solve problems in a spatial context

T4

* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.

He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5

inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram

shows three shelves.

I3 inches

1. Pete wants five shelves in his bookcase.
a. How many planks of wood does he need?
b. How many bricks does he need?
c. How high will the shelves be?

d. How much will the bookcase cost?

Copyright © 2007 by Mathematics Assessment Page 6
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The diagram below shows graphs with the following descriptions: I 4

Description One: The cost of the bookcase against the number of shelves.

Description Two: The number of bricks against the number of shelves.

Description Three: The height of the bookcase against the number of shelves.

Description Four: The width of the bookcase against the number of shelves.
The equations of the graphs are

y=48, y=10x, y=6x, y=2.5x

100 ﬁ
0 |
80 AL

. -
o 4
®A

¥ | ms
A

07 A A A b AC
| oD
40 L

—i-

) ;1 1
10 » !
:i 17 T

Number of shelves

2. Complete this table to match each graph with its description and its equation.

Graph letter Description number Equation
A 4 y=10 v~ ROD

B QL /‘/ '\Lﬁr' b
C L;L :!—qg ;Z
D | 1 VLY.V
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Shelves

“This problem gives you the chance to:
* solve problems in a spatial context

T5

* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.

He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5

inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram

shows three shelves.

I3 inches

: 1. Pete wants five shelves in his bookcase.

b. How many bricks does he need?
c. How high will the shelves be?

d. How much will the bookcase cost?

Copyright © 2007 by Mathematics Assessment
Resource Service. All rights reserved.

a. How many planks of wood does he need?
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The diagram below shows graphs with the following descriptions: I 5

Description One: The cost of the bookcase against the number of shelves.
Description Two: The number of bricks against the number of shelves.
Description Three: The height of the bookcase against the number of shelves.
Description Four: The width of the bookcase against the number of shelves.

The equations of the graphs are

100 ﬁ
o0 +—

80 —-

70 T

) T
®A

>0 A 4 ! A N A :(B:
EEEEE ;
40
w
a0 +—
20 " l

JER

2. Complete this table to match each graph with its description and its equation.

o

3 4 S 6 7 8 9 10
Number of shelves

Graph letter Description number Equation
A P&S(NO?ZIOI’L 37 Yol 7
B E&sgnﬂﬁa& </ y=bx
c Description 4 - =48
D ﬁDyﬂpﬁa’; |~ v-2.5¢ 7 P ?’
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Shelves

This problem gives you the chance to:
* solve problems in a spatial context

S

» identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.

He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5

inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram

shows three shelves.

I3 inches

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need?

». How many bricks does he need?

c. How high will the shelves be?

V4
S5 s

d. How much will the bookcase cost?

Yo 50 /|
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The diagram below shows graphs with the following descriptions: S 1
Deseription-One=The cost of the bookcase against the number of shelves. ) |
D/escnpn.onho. The number of bricks against the number of shelves.

Description-Three: The height of the bookcase against the number of shelves.
Description Four:- The width of the bookcase against the number of shelves.

The equations of the graphs are

/y/=¢4§,,. y=10x, r=6x, =25

100 -4

90 2 2

: —
: .
: b

oD

:’ £ 4 4 ) QI I N
1
30 —— f |
* I $ —t
1

|

3 4 5 6 7 8 9 10
Number of shelves

2. Complete this table to match each graph with its description and its equation.

LGragh letter Description number Equation
A =~eo. ~ W= \OX
B _dwo walox v
c ool o G=ud v
D

e o ﬂlﬁ‘éa.w v "f'
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Shelves

This problem gives you the chance to: : 3 2

* solve problems in a spatial context
» identify and distinguish the four point graphs related to this situation

Pete 1s making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inbhes. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves. r)\\)\

]Il

2}

N

3 inches

\ -
Y
\mk - q.\:\&
\ X
v S
1. Pete wants five shelves in his bookcase.
| S7
a. How many planks of wood does he need?
b. How many bricks does he need? 3 L( X 0
o1, ’
¢. How high will the shelves be? Soud /|
d. How much will the bookcase cost? ILL)\' S[L )( O
A A
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The diagram below shows graphs with the following descriptions: 82
DescriptionsQue: The cost of the bookcase against the number of shelves.

Description“Fwe: The number of bricks against the number of shelves.

Description 38xme: The height of the bookcase against the number of shelves.

Description Fgass. The width of the bookcase against the number of shelves.
The equations of the graphs are

=48, = p=dixe y=6x, y=2.5¢

100

90

80

70

60

50 -
P -

|

40

) /
20

10 1

Number of shelves

2. Complete this table to match each graph with its description and its equation.

Graph letter Description number Equation

A Y Y=tox
B 2 /:a X P
C __H

D

s
v
1. VRS 4
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Shelves
This problem gives you the chance to: 83‘

* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

I3 inches

1. Pete wants five éhe]ves in his bookcase.
3 a. How many planks of wood does he need? ® 4 /
7 5X@ \% b, How many bricks does he need? \DO X 0

, VD*\(/O;’\(/O c. How high will the shelves be? -—-\ E ..\ : X 0

d. How much will the bookcase cost? % @ &( } _C,, Q \/ (
& \O

Copyright © 2007 by Mathematics Assessment 8 ,6 X Page 6 Shelves Test 8

Resource Service. All rights reserved.




The diagram below shows graphs with the following descriptions: Sa
Description One: The cost of the bookcase against the number of shelves.
Description Two: The number of bricks against the number of shelves.
Description Three: The height of the bookcase against the number of shelves.
Description Four: The width of the bookcase against the number of shelves.

The equations of the graphs are

y=48, y=10x, y = 6x, y=2.5
100
90
80
70
60 I
AN
_]:]
50 AC
oD
40 1
30
2 KM
101
O - v L] —
0 1 2 3 4 5 6 7 8 9 10
Number of shelves
2. Complete this table to match each graph with its description and its equation.
Graph letter Description number Equation
A == (U= 1O~
B =S X (A= ©X w
¢ H Ul A= LU
D =X X A= Sy
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Shelves :
This problem gives you the chance to: 84

* solve problems in a spatial context
» identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each. !F:%\

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

I3 inches

1. Pete wants five shelves in his bookcase.

/7
a. How many planks of wood does he need? g ﬁQ\W‘\(\‘L ‘
b. How many bricks does he need? :53 li\(/\'\s .
c. How high will the shelves be? ON" Ow N\ . 50 n ;\\}QL /
7
d. How much will the bookcase cost? —I() X 0
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The diagram below shows graphs with the following descriptions: S4
Description One: The cost of the bookcase against the number of shelves. '
DescriptionkTwo: The number of bricks against the number of shelves.

Description Three: The height of the bookcase against the number of shelves.
Description Four: The width of the bookcase against the number of shelves.

The equations of the graphs are

y=48, y=10x, y=6x, y=25

100 <4

90 ?———
80 f

70 T
. INRENF

0 = S ——1 ic

EEEE RSN

T
ERERS

0. L4 L4 L
0 3 4 5 6 7 8 9 10

Number of shelves

MRS

N

2. Complete this table to match each graph with its description and its equation.

Graph letter Description number Equation
1
: 5 L 7 (I[" é& v’
¢ H v =ty
D v bz 25 ¥ 4
/
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Shelves

This problem gives you the chance to: S 5
* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

—>

3 inches

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need? (.0 )( 9,
b. How many bricks does he need? ?2(@ /! } Fb
c. How high will the shelves be? 10 inches X @

d. How much will the bookcase cost? ﬁ , 5 \/\ L‘ej

Copyright © 2007 by Mathematics Assessment Page 6 Shelves Test8
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The diagram below shows graphs with the following descriptions: Ss
Mpﬁon One: The cost of the bookcase against the number of shelves. ‘
{dDescription Two: The number of bricks against the nmnbér of shelves.

\bY‘ Description Three: The height of the bookcase against the number of shelves.
/De'scription Four: The width of the bookcase against the number of shelves.
The equations of the graphs are
y=48, y=10x, y=6x, y=2.5x

100 - ?

90 *T——\
50 L

70 - f
60 - T

¢ A
]3]

A 4 ! § A T * Ar :I()'.
L

50

T

30 ——

T T i
I

0 1 2 4 5 6 7
Number of shelves

o]
(o]
-
o

2. Complete this table to match each graph with its description and its equation.

Graph letter Description number Equation
A % . 7 \L: \.bL
—

olalw
.
\
:q
\

Resource Setvice. All rights reserved.
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Shelves

This problem gives you the chance to: S6

* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

I3 inches

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need? 5 _/ f
b. How many bricks does he need? 30 4 /
c. How high will the shelves be? as” X_ «
d. How much will the bookcase cost? #13.90 / l
Copyright © 2007 by Mathematics Assessment Page 6 Shelves Test8
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The diagram below shows graphs with the following descriptions: f ; 6

Description One: The cost of the bookcase against the number of shelves.

Description Two: The number of bricks against the number of shelves.

Description Three: The height of the bookcase against the number of shelves.

Description Four: The width of the bookcase against the number of shelves.
The equations of the graphs are

y=48, y=10x, y =6x, y=2.5x

100 4
90  Gm—
80 F

m +

60
T ol T ms
B
>0 f A A Ac
oD
40 Jr
[
30 T #
20 T ‘ f * !
Ty %f ] H
ot
0 1 2 3 4 5 6 7 8 9 10
Number of shelves
2. Complete this table to match each graph with its description and its equation.
Graph letter Description number Equation
A y "4 _f"\% A
B 5 X ‘l.{_:QD X /\/
C 3 X »\r:(o ¥ L C ‘)
D 1 | y=ahx e
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Shelves

This problem gives you the chance to: S7

» solve problems in a spatial context
» identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

I3 inches

1. Pete wants five shelves in his bookcase.

v

a. How many planks of wood does he need? ‘S ‘(jaf\\k\ {
b. How many bricks does he need? &2 b: CKS Z (
¢. How high will the shelves be? |Qn cack /B |
d. How much will the bookcase cost? AR \/ ’
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The diagram below shows graphs with the following descriptions: S7
~TDeseriptte-Oae- The cost of the bookcase against the number of shelves. .

Description Two: The number of bricks against the number of shelves.
Description Three: The height of the bookcase against the number of shelves.
—PreseripttorFonr: The width of the bookcase against the number of shelves.

The equations of the graphs are

il

y=48, y=10x, y=6x, y=2.5x

100 f
90 #

80 qf
70 ——

. 4
. 4 TT LI
[’

N AC
oD

40 T
30 l #
20 —— : ——
10 4~—{ » —@- ?
Aty
0 1 2 3 4 5 6 7 8 9 10

Number of shelves

2. Complete this table to match each graph with its description and its equation.

Graph letter Description number Equation
A =/ Yz Ox ~
yrlox [/

B S r
C 4 - =48 ~ )
D [ R Tt
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Shelves

This problem gives you the chance to:
* solve problems in a spatial context

S8

» identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.

He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5

inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram

shows three shelves.

1. Pete wants five shelves in his bookcase.

a. How many planks of wood does he need?

3 inches

b. How many bricks does he need?

c. How high will the shelves be?

d. How much will the bookcase cost?

Copyright © 2007 by Mathematics Assessment Page 6
Resource Service. All rights reserved.
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The diagram below shows graphs with the following descriptions: SS
Description One: The cost of the bookcase against the number of shelves.

Description Two: The number of bricks against the number of shelves. |
Description Three: The height of the bookcase against the number of shelves.
Description Four: The width of the bookcase against the number of shelves.

The equations of the graphs are

y=48, y=10x, y=6x, y=2.5x

100 T

90 *f

0 +
70 T

60 ’
| ' T u
MB
=0 A ﬂn A AC
L T 11 I °
40 '
1 #
30 T + f
NI il
) ? IR
08— — ,
0 2 3 4 5 6 7 8 9 10
Number of shelves
2. Complete this table to match each graph with its description and its equation.
Graph letter Description number Equation
> 7~
A 3 yolox
. e N
D J \y/ - (o X X L=
Copyright © 2007 by Mathematics Assessment Page 7 Shelves Test 8

Resource Service. All rights reserved.



Shelves
This problem gives you the chance to: Sg

* solve problems in a spatial context
* identify and distinguish the four point graphs related to this situation

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each.

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 inches by 4.5
inches by 9 inches.

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The diagram
shows three shelves.

)
IB inches
g 50 o
7
< 3 -
iy 3 30
1. Pete wants five shelves in his bookcase.

/ .

a. How many planks of wood does he need? 5 e /

-/
b. How many bricks does he need? 5 O (

¢. How high will the shelves be? 5 ((2 Y2 /A
d. How much will the bookcase cost? $ l 7" ' ﬁ O {
' /
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The diagram below shows graphs with the following descriptions: Sg

~Deseription One: The cosStof &MWWM
Description Two; The number-efbrieks-against-the-mmmberof stetves—

The equations of the graphs are
22=d8 _pmllxe— YO0 e

100

90

80

70

60

50

40

30T

.
———>

20

ow—
0 1

ml‘t“f T 4

3 4 5 6

Number of shelves

+
ﬁ

L

%
¥ T.’*f.f:
lﬁ:-::

2. Complete this table to match each graph with its description and its equation.

Copyright © 2007 by Mathematics Assessment
Resource Service. All rights reserved.

Graph letter Description number Equation .
A D N=IDr .
B Y Yolo®
C 4 y=ub
D ) 4 \fL:' LO% / 4
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Shelves !
This problem gives you the chance to: S 1 0
* solve problems in a spatial context

* identify and distinguish the four point graphs related to this situation

e —

Pete is making a bookcase for his books and other stuff.
He already has plenty of bricks and can get planks of wood for $2.50 each. .

Each plank of wood measures 1 inch by 9 inches by 48 inches. Each brick measures 3 1nches by 4.5
inches by 9 inches. ‘ \\

For each shelf, Pete will put three bricks at each end then put a plank of wood on top. The dlagmm
shows three shelves. .

1. Pete wants five shelves in his bookcase. /
a. How many planks of wood does he need? 5 (
c. How high will the shelves be? {bg one =2 ﬂ ). A /

d. How much will the bookcase cost? BN ‘ L’L 50 ‘/ f

b. How many bricks does he need?

Copyright © 2007 by Mathematics Assessment Page 6 Shelves Test 8
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The diagram below shows graphs with the following descriptions:

Description One: The cost of the bookcase against the number of shelves.

Description Two: The number of bricks against the number of shelves.

S10

Description Three: The height of the bookcase against the number of shelves.

Description Four: The width of the bookcase against the number of shelves.

The equations of the graphs are

y=48, y=10x, y=6x, y=25x
100 f
90 r
80 T
70 *
60 *- #
®A
_]:]
50
A 3 % AC
1 TPt
40 —
]
30 L—ﬁ
’ *
20 *— T —o
)
EREEI
0 g———v— Y ~ —
0 1 2 3 4 5 6 7 8 9 10
Number of shelves
2. Complete this table to match each graph with its description and its equation.
Graph letter Description number Equation
A )~ (4=10r .
B » * - vq “x Lf'
\ A
D - whby 7
—9
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